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Question Number : 1 Question Id : 813561961 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

n -~ Fi! n
It C, = Cﬂ.theu CZ:

e

Mg ]
, = C, @00, C, deood

Options :
1 % 858
5 % 13

4 v 78
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Question Number : 2 Question Id : 813561962 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

If the line y = 2x + k is normal to the parabola y? = 4x.then k =

v = 2x + k 8, v? = 4x Hordoairds edwctdd eond, k =

Options :
1. % —10

5.v 12

Question Number : 3 Question Id : 813561963 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

Solve the differential equation given below

208 edELD ‘é:b.)saer:}l FBotsod

x dy

e — J /Y

Options:

_— X2 = c'[_v + JW]

y? = clx +»2 - 7]
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v? =[x + Tan™1(y/1 + y2)]

4, % yi=c¢ [l' == \uam]

Question Number : 4 Question Id : 813561964 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

m/2

1
— dx =
J’ 1 4 tan292%(x)
0

Options :

1.8 T

t-.:|;1

Question Number : 5 Question Id : 813561965 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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=1 .¥y-2. g5

Equation of the plane passing through the intersection of the lines - R =— and
x+5 -4  z+3 .
= S and parallel to the xy-plane 1s
3 -1 4 :
1.  y-2 .. g5 x+5 y-4 z+3
o Sododn e g RO¥00 Dottddotdy) Mot Jdr,

XY-BerRS DAoL Gol S0 s, DGR

Options :

1.8 2=4
5w Z=2
3w Z=2
4.Hz=—5

Question Number : 6 Question Id : 813561966 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Given that a throw of three unbiased dice shows different faces. what is the probability
that their total 1s eight?

B0rd FDS FBeDDHNE T8 Swddwe 6 ATYRLEEDVIRANGH DY
B, T8 VB JWE e ‘bnﬂ;"bﬁeﬁ Qdoed?

Options :
1

1.« 10

23

, % 256
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13
3 % 36

17
4, % 20

Question Number : 7 Question Id : 813561967 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
The vertices of the hyperbola 7x? — 49y? = 343 having eccentricity * 4/3 " is
7x? — 49y% = 343 R0 WAVTBVAD &B) 08 < 4/3 * Lo, T %'g“w

Options :

Question Number : 8 Question Id : 813561968 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

. . ; - » T
If @ 1s a complex cube root of unity. then sin {(,ww + ) - ;} =

28go(1) cog) :aoég DHATOAN @ LAV, sin {(w“‘ £ Vit = g} DeS Dod?
Options :
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Question Number : 9 Question Id : 813561969 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If 8 = Cot 1(7)+ Cot™1(8) + Cot1(18). then cot 8 is equal to

8 = Cot™*(7) + Cot™1(8) + Cot™1(18) ®ond, cotf =
Options :

1. % 2

Question Number : 10 Question Id : 813561970 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Five different books are to be distributed among four students randomly. The probability that
each child get atleast one book is

5 Pz 4 bm‘;g%msa DT . DA DA Dc,s“lggé 28,8, PRSI SB\U" &ol
FRIARY R}oﬁ*b}geﬂ

Options :
21
1. % 64

15

2. 64

31
3 % 64

51

4 % 64

Question Number : 11 Question Id : 813561971 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the equation 4x% + hxy + y? = 0 represent coincident lines. then * 1 * is equal to

4x% + hay + y? = 0 2a08680 Totd DSBVoBd Spwmd wrdd, ‘I’ dewsd

Options :

1.% 1
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Question Number : 12 Question Id : 813561972 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

e* logx dy
o then ——=
x dx

If v=

e* logx d
il 29000 d_y —

X

i

¥z

Options :
e {1+ (x+2) logx}

1. % a3

eX{1—(x—2) log x}
4

2. ® X

e*{1—(x—2) log x}

3, % x3

e*{1+(x—2) log x}
3

4, £

Question Number : 13 Question Id : 813561973 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The standard deviation and mean of five observations are 0 and 9 respectively. If one of the
observations 1s changed such that the mean of the new set of five observations becomes 10.

then their standard deviation is

5 03000 W00 Denads 9 B0k Fares deswde 0. &8 VoAV’ 28 TAY Ardnk
S0 D BeinY DTG e 10 wond, Ardd Boddwe FTATES DBVHAW Do’

Options :

1.231

Question Number : 14 Question Id : 813561974 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is true about f(x) = 3 sinh(x) — 2cosh(x) , Yx €R

f(x) = 3sinh(x) — 2 cosh(x) , ¥V x € R 900&. & 308 J°8¢5° 28 Jadn?

Options :
f 1s an odd function
1w [ s €3 DD0oAW

f 1s a periodic function
5 % [ 208 e3568 HIAvV0RD0

3.¥
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f 1s a strictly increasing function on R
R2 fas 308 es8'7e HAOAD

f 1s a strictly decreasing function on R

R f a8 308 9B re HAVADAD

Question Number : 15 Question Id : 813561975 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If 2 1s the length of a side of a triangle with its opposite angle “ 7/3 °. then the circumradivs
of the triangle 1s

Q@G w8 ZhHadn TEY 2. T8 AT Seadn /3 T 900, &8 GRS
aog), BB TR0 =
- Q

Options:
2

v V3

4
2 % V3

Question Number : 16 Question Id : 813561976 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
AP EAMCET 2020
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If the equation ax? + 2hxy + by* + 2gx + 2fy + ¢ = 0 represents two straight lines
equidistant from the origin, then f* — g* =

ax® + 2hxy + by? + 2gx + 2fy + ¢ = 0 20E6EA0 ArVDotI) Aol VAT
BrBoes” o) Bot rwd ArdR. f4 — g* =

Options :
1 % bf? — ag?
2. % 49" —bf*

, o cbf* —ag?)

4 x claf*—=bg?)

Question Number : 17 Question Id : 813561977 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If P divides the line segment joining the points A and B in the ratio 2 : 1 and the position

vectorsof Aand Bare i —2 and —37 45 respectively. then the position vector of P is

A, B Dotop 3 R0 00T T—27 &80 —31 45 .4, B o gens) By
o080 P Dot 2+ 1 A36° dateoldd, P cdogy, 7 068
Options:

5i—8]

"B

—51+48]
2
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51+8]
3. % 3

—51-8j
4, % 3

Question Number : 18 Question Id : 813561978 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If @ and b are two unit vectors and @ is the angle between them, then the unit vector along

i
the angular bisector of a and b 1s given by

T 200050 b e Gty chrdE pA%en dok § T8 206§ S wand, @ Hdakn
b o&n RADOGA B8 AAToEANT Gol 0L AHF

Options :
a+b

1 % 2 sin(6/2)

f—
a+hb

2 & 2 cos(6/2)

5 =%

a—b

3 % 2 cos(6/2)

a +b

4 % cos(8/2)
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Question Number : 19 Question Id : 813561979 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A pomt P(—3,—2) is such that the sum of squares of its distances from the co-ordinate axes 1s
equal to the square of its distance from the line x — y = 1. Then the equation of the locus of P is

AErOSEY Aot P(=3,-2) Doty g GrTw D600 20w, 88 P Dodo oc.
x—y =1 26¥ S8 ffo Grdaw aws) ;.‘JE“?L)% QATH2000%, P Dot DedEdHAw =
Options :

1% w24y —2xy—2x—2y—1=40

, x Xty +2xy+2x+2y+1=0

i ,2 7 R | —
3 v X sy ir—2y—1t=10

4 RIE+}'2—2X}’+23’—2}?+1=U

Question Number : 20 Question Id : 813561980 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the normal to the curve v = sin x at the point (0, 0) 1s

y = sinx $5°08 (0,0) Do) 56 eDe0ed DAECEAD

Options:
1 8 X= 0
2. % ¥=0
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Question Number : 21 Question Id : 813561981 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

3
Displacement ‘s’ of a particle. in meters, at any time ‘t” seconds is expressed as s = T —6t.

Find the acceleration at a time when the velocity vanishes.

o6 rg
7 26200 DADA B 8 SB0 0008 FIPoRW 'S (oedod), s = T ~6t &

ArDR, & SHA S BEARDYE T S0RA0 Jod?

Options:

| w 6m.sT?

> 2v6 m.s™?

12 m.s~2
3. %

Question Number : 22 Question Id : 813561982 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The length of the tangent drawn from the mid-point of the line joining the origin and the

point (4, —4), to the circle 2x% + 2y? —y = 0 is units

20r0Doc)R) 6w (4,—4) DotoH $05 Baraei) 2[R Aol 2% +
2y% -y = 0 35ddrio 2y \00 TEY SWHNIM

Options :
1. 8 3‘-.,-'5

2. % V2

Question Number : 23 Question Id : 813561983 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The number of the values of ‘%" for which the limes 2x +y =1, 3x + 2y =2, kx4 3y =3

are concurrent 1

2x+y=1, 3x+2y =2, kx+ 3y = 3 dpen &g e.aojjéomaa Dewrr o k’
DLVSY oy

Options:

1.530

Infinite
) BReDIW

3. % 1
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4. %

Question Number : 24 Question Id : 813561984 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For equality of functions f and g

(1) domain of f = domain of g
(1) f(x) =g(kx)

(111) x € domain of f

f 20Basn g DAairw DATIT(IS

(1) [ D880 = g 283250

(1) f(x) = g(x)

(iil) x SoreSsD [ HEF0S° IS
Options :

only (1) and (11) are necessary
1% (1) s3060300 (11) ST e2:53( S50

only (11) and (111) are necessary
- (11) s08a8w (ii1) SI°gdd0 35BS

only (1) and (ii1) are necessary
3 % (1) 080320 (111) PG H&ﬁ%‘ég;ﬁjj

All (1). (11) and (111) are necessary
4 o @ @) (i) ©) DISAD
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Question Number : 25 Question Id : 813561985 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

f(_l ——h

Options :

_— log(1+e ™) +c

5 ¥ log(1+e*)+c

3 % log (1 —e*)+c

4« log (e*—1)+ec

Question Number : 26 Question Id : 813561986 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

How many multiples of 5 are there from 10 to 95 mcluding both 10 and 95?

10 J0bodn 95 v 9356&36% SR, T8 306 5 0E), DES AR A &) ow?

Options:
1. % 17

2.v 18

3 % 16

4 % 19
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Question Number : 27 Question Id : 813561987 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

1

The radius of a circle is increasing at a rate of 0.1 cm.s™". Then the rate of change of area,

when its radius 1s 5 om. 18

0.1 cm.s™" Sy a8 8 TG DS . T8I 5 om waIYE, & 53

2TV 26A 6w
Options:

| » Mrem?sT!

AL em?.g7 1

3 % 2w cm?. s

T

— em?.s71
2

4, %

Question Number : 28 Question Id : 813561988 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If tan(x/2) = % . then the value of msin(x) + ncos(x) is equal to

tan(x/2) = % 29000, m sin(x) + n cos(x) LDend dodh?

Options :

1 % m
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2. F —TH
3. i’ —n
4.9 "

Question Number : 29 Question Id : 813561989 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the angle between the planes x + 2y + 2z —-5=0and 3x +3y+2z-8=0.

X +2y+22-5=0300am 3x+3y+22-8=0 dere ¢ Endw

Options :

Question Number : 30 Question Id : 813561990 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Let f:N X N — N be a function such Ihatf((l,l)) =30, andf((m. +1, n}) = f[(mrn)) +
2(m+n)and f((m, n+ 1)] = f([}n, n)) 4 2(m+n—1), Ym,n € N. then find £(2,2)

f:N XN = N 530003088 f((1,1)) = 2 208asw. f((m+ 1,n)) = f((m,n)) +2(m +
n) Sndodw f((m,n + '1:}) = f((m, n}') +2(m+n—-1), Vmn €N o [ 2Ardetds.
£(2,2) Desd dodd?

Options :

1.% 8

2.23?

% 9

10

Question Number : 31 Question Id : 813561991 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If*“2i"isarootof f(z) = z* + 23 + 222 4 4z — 8 = (. then which among the following
cannot be aroot of f(z) =07

fz) =2* +2° +22° + 4z — B oD\ f(2) = 0.9 “ 2i ™ w8 Pl ond, $od
T8 f(z) = 0 Sredw 0I6A?
Options :

| xR
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Question Number : 32 Question Id : 813561992 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the number of ways of arranging 6 red balls and 6 black balls in a row such that no two
black balls are together.

) Boty 3 wodIed 288 SN Godtrorm, 6 Y Lodien BA 6 M LBV

2,8 wcéo;ﬁdm‘i‘ 306y (f0 AFTO 02

Options :
1 % 6! X 6!

5 % 7! X 6
« 2 X 6! X 6!

3.

7 X 6! X 6!

Question Number : 33 Question Id : 813561993 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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(p+q+r)

In APQR. find Y,(q + 1) cos P. if p, g, r denote its sides and s =

+q+r
APQR 90228 p, g, o0 Sadnw Ty ardr 308050 s = )

900N,
Y(g+1r)cosP =
Options :

1.% ¢

Y
2. % 2

Question Number : 34 Question Id : 813561994 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If . B are the roots of x* + px + q = 0. then the values of o + f° and o* + a?f% + p*
are respectively &

@, f o0 X2 4 px + g = 0 S Sres0w o0, ST o + 2 Lboko at + «2f2 +
f* o Denden &

Options :

L x BGpa—p) & (*-3piq+39%)

, x PBI-P) & @ -q)@*+39)
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(pg—4) & (@*—q%

4 v (3P4 p*) & (p*—q)(p®—3q)

Question Number : 35 Question Id : 813561995 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

X Z L e
If = z;; e then the value of (x + y + z) is equal to
Cos{ (‘05(? =3 a’) COS(? i (I)

E e 2] o= ;:'I ) 00, (x4 v+ z) Dend Jodh?

2
cosa C{}S(?_ Cl:') COS(?';F 4

Options:

Question Number : 36 Question Id : 813561996 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The number of solutions for the equation x? — 5]x| + 6 = 0 is

x2 = 5[x| + 6 = 0 RaLSCERB0 T, FEDR Vo
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Options :

1. %

Question Number : 37 Question Id : 813561997 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
ni2

[ (2 sin|x| + cos|x]) dx =
—1/2
Options :

1.% 3

Question Number : 38 Question Id : 813561998 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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2

x cos(x) P
J 1+ cos(x) 2=

0

Options:

T

1.% 6

Question Number : 39 Question Id : 813561999 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
xz_yz
i

d
I Cos™? ( ) = Sin"1(a) thend—yis equal to
X

2 2

-1 (X =¥ )_ D | " ay _
Cos ( = Sin~ “(a) 00, 2Fe) A =

xz +};2

Options :

1 . «../ .}}f"t
2 ® _.Ff-r
3 x X/

L ~X)Y
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Question Number : 40 Question Id : 8135611000 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
If the circles x% +y2 —2x—2y—7 =0and %+ y% + 4x + 2y + k = 0 cut orthogonally.

then the length of their common chord 1s units

2P+ y? =202y =7 =0 208080 x% +y2 +4x +2y +k = 0 35700 LotxdyGRa
B 0t0R) 008, T8 &6 &) TER) Ay HrAw?

Options :

2

Question Number : 41 Question Id : 8135611001 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The number of possible straight lines passing through the point (2, 3). while forming a

triangle with coordinate axes enclosing an area 12 sq. units is
(2,3) Doty ot Vehr B AEFHTTVS 12 BE6) oL DT Vo iV
BE0EP) DGO L VEYED S

AP EAMCET 2020



AP EAMCET 2020

Options :

1.% 1

Question Number : 42 Question Id : 8135611002 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If a,f,y are the roots of the equation x* + 3x® — 6x% + 2x — 4 = 0. then find the equation

, i 1 1
having roots— , =, —
a By

£ i &
0B,y o x* + 3% — 6x7 + 20— 4 = 0 2EGRSD WY SrwBowond =, 5
a Y
R SAPVAVLDIT (0 “fohagdw:)‘l &08) o€
Options :
4xt —2x¥ +6x2—3x—-1=0
1.9

> % dx* 1243 — 622 +3x+1=0

- 4x* —2x* +6x2—-3x+1=0

oox 20 +6x" +3x—1=0
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Question Number : 43 Question Id : 8135611003 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the letters of the word “ASSASSINATION™ are arranged at random in a row, then the
probability that no two 4’s come together is equal to

‘ASSASSINATION® HE350065°%) @iﬂ“véﬁioﬁb a:im&a&smrr 28 HBS" Y, I
Toch 4 &0 50 G2 obd Rozrae Jodh?

Options :
25
1. % e

23
26

2. %
15

17
4 % 26

Question Number : 44 Question Id : 8135611004 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

b

InaAABC,if a b, careits sides and 2C = 60°, find the value of = F—
b+c cta

b
ABC &zhoasns” a,b, ¢ o0 Zoadnw Téden 8ok £ = 60° eand i + s
Options :

1.¢ 1
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Question Number : 45 Question Id : 8135611005 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the plane nud-parallel to the planes 2x — 3y + 6z + 21 = 0 and
2x —3y+6z—14 = 015 given by

2x —3y+6z+21 =0 2008080 2x — 3y + 6z — 14 = 0 doros) DSTodCol™
EEotix, 0GR Golt S0 PDEGEAD

Options :

1w A +6y—12z+7=10

s x dx—6y—12z2—-7=0

3_9,4.'4:—6}?%—122-!-?:0

g x o6y +12z—-7=0

Question Number : 46 Question Id : 8135611006 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
AP EAMCET 2020
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Orientation : Vertical

1
j(_l + x)log(l+4+ x) dx =
0

Options :
= 4 log?2
s 0%

1. %

3
- E—l—ZngZ

3 % 2log2

—3
—+2log2
av *

Question Number : 47 Question Id : 8135611007 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The acute angle between the lines x —y =0.and v =01is

x—y =0 208050 y =0 8o 26 fo 08tk

Options :
T
1.% 6

T
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Question Number : 48 Question Id : 8135611008 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
For the circle x% + y* —9 = 0. find the equation of the chord having (1, 2) as its mid-point.
x4y -9 =028 (1,2) mcﬁﬁeﬂom@rr o & PEGE0

Options :
g X1 2y+5=0

;> 6 Xx—3y—5=0

38 X—3y+5=0

4o X+2y—5=0

Question Number : 49 Question Id : 8135611009 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The point of intersection of lines denoted by 3x% — 11xy + 10y? = 7x + 13y + 4 =01is
3x% — 11xy + 10y% — 7x + 13y + 4 = 0 2ol 820 Dotd Do)

Options :
AP EAMCET 2020
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2. x (1,3)

3. % (0,0)

4% 3:71)

Question Number : 50 Question Id : 8135611010 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

_ a.a a.b a.c
If@,b,c are coterminous edges of a parallelepiped such that |, 7 5 b b.7|=16
c.a eb t.c

then find the volume of the parallelepiped

T,D,T 8 05080 DHUgaD g IFTIDS Fhade Bak

= 16 090008, &8 RarodGneSD mﬁzj DB

o) = |
2l 2| 2|
el
n] o 2|
| a| n)

Options :
1. % 32

5 % 16
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Question Number : 51 Question Id : 8135611011 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

2 2
The number of values of ‘c’ for which the line y = 4x + ¢ touches the ellipse T 4 T =1is

xl yZ ) . 4
ke BE3ER) ¥ =4x +c B Ry ‘¢’ 8 o Do Roa)
Options:

1.# 0

Infinite
4 % VDodo

Question Number : 52 Question Id : 8135611012 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The area of the quadrilateral formed by the tangents from the point (4,5) to the circle x* +

y? —4x — 2y — 11 = 0. with a pair of radii joining the points of contact of these tangents is

(4,5) Docioiyoad 1 + 17 — 4x — 2y — 11 = 0 3,523 A 0 Swvediar, 74
216, Do0R%) Bogin ook A J’gﬁ“g"@éﬁ Ar D6\ SR FTVW =

Options :

1.% 4
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4 % 10

Question Number : 53 Question Id : 8135611013 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate variance if Y, x;2 = 18000 and Y, x; = 960, for 60 observations

60 oz, ¥ 1,2 = 18000 208050 Y x; = 960 00, T8 DS =

Options :
1.« 44

5 % 22
32

3, #®

4 % 6.63

Question Number : 54 Question Id : 8135611014 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020
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i 2 3 110 2§
IfA = 1 1l.B=|0o 1 3[.c=[0 1 o0]then (((ABC)™H)T)™DT =
t % 4 3 0 4 3 2 3
1 2 3 1 10 2 0 1
A= 1 1LB=10 14 3L6=|0 1 0] ((((ARC) V) )T =
1 =1 1 3 0 4 3 2 9
Options:
64 39 28
29 16 11
- it 2 5
63 39 20
29 16 11
|10 2 5
2. %
64 39 27
28 15 11
11 2 5
3. %
61 39 28
29 16 11
4w T & 5

Question Number : 55 Question Id : 8135611015 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The points (5,—4,5), (=3,-3,2) and (=1, -6, 8) form

(5,~4,5), (=3,-3,2) 208asw (—1,—6,8) Do’ D6\E Gzbasn w8

Options:
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an 1sosceles triangle

1 RDDECETTND B2

an equilateral triangle
RSETIPY €323023:000

a right-angled isosceles triangle
©o2E e RIAEFITV GFdR[

a right-angled triangle

4w DotEE QZRAW

Question Number : 56 Question Id : 8135611016 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Two lines whose direction cosines are given by al+ bm + en=0and fmn + gnl +
him = 0 are perpendicular to each other 1f

Boch) WO¥BL BS S8 al + bm+cn =0 208ady fmn + gnl + him = 0 0
ATFRoLN, 85 Bot NEVEDLD WIS 58) L0RIT SotiraS AohaaAw

Options :
h
Lid, -
1@ @ b c

f_g_R_,
o x @ b c
L9 _m_,
333-:1 b c
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Question Number : 57 Question Id : 8135611017 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If @, f are the roots of the equation x® — 2x +4 = 0. thena™ + ™ = X cos (ng—ﬂ}

foranyn €N

a,f e x2—2x+4=0% orow wond, nENDa + " = Xcos(z—n)

Options :
2?!

1. %

. 2H+1
2. %

Question Number : 58 Question Id : 8135611018 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Assuming x to be so small that x? and higher powers of x can be neglected, the coefficient of

b 1 2

L R 7l b

Y m T is equal to
(16—x)

/2 2
1-x)  +(1-5;
X% 6 x 2rErR) 6DE0BedT 1 Jend RLenNd, ) {15 &2PoN0R)
& ) 5 & (16—13)1/4 2

Dendes” x aws), Desn

AP EAMCET 2020



AP EAMCET 2020

Options :
989

1. % 96

989
5 % 192

989

989
4w 192

Question Number : 59 Question Id : 8135611019 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For f(x) = sin ( ) the domain and range of f(x) in R are

lclVa2-1

£(x) = sin ( | ,12__1) and, R & f(x) 920000 a0, Hdsa0 Hdow TR

|V x
Options :
R — {0, +1} and [—1,1]. respectively

| % g R — {0, +1} &odadw [—1,1]

R — [—1,1] and [—1,1]. respectively

, o S22 R — [-1,1] 206030 [-1,1]

R — {0, +1} and [0,1]. respectively

3 % Sd0m R — {0, +£1} £odadw [0,1]
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R —[—1,1] and [0,1]. respectively

, w S2030m R —[—1,1] 30805 [0,1]

Question Number : 60 Question Id : 8135611020 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

cosx «x 1
If f(x)=|2sinx x? 2x|then the value of f'(x) at x = 0 is equal to
tanx x 1

cOS X X 1
fO) =|2sinx x* 2x| ©o0d, x =056 f'(x) dewd
tanx X 1

Options :

1.% —1

Question Number : 61 Question Id : 8135611021 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the tangent to the ellipse x* + 16y* = 16 which makes an angle 60° with

the x-axis 1s

-0£303 60° Sndw 82 1 +16y” = 16 B35S v 216,09 VTN

AP EAMCET 2020
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Options :

Question Number : 62 Question Id : 8135611022 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

J'(.\,-" 1+ si11(22.}:}) dx =

Options :
cos(x) + sin(x) + ¢

1. %

5 % cos(x) —sin(x) + ¢

3 @ sin(x) — cos(x) + ¢

4 % sin(x) —cosec(x) +c

Question Number : 63 Question Id : 8135611023 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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=¥ . = S e
If @b and ¢ are three vectors suchthata x b =7 ,b Xx¢ =@ anda, b, are mutually

perpendicular to each other. then |b—| 15 equal to

—_ _—

T, T 208w T xh =0, b XxT =7 o ardar, 000 7,5, 7 w wsadEEs
©0ROTT 606,80 90d, m =
Options :

—1 only
—1 Sorghdo

0 only
5 % 0 Sgd0

1 only

3 ¥ 1 Seddo

Question Number : 64 Question Id : 8135611024 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If it 15 mentioned that for a curve passing through (3, 4). the slope of the curve at any point 1s
the reciprocal of twice the ordinate of that point. then that curve is a

(3,4) Dotdd) Moot T'ah wé HgA0p B Hotkd 36 T, &8 Dot AW, ¥-
QATFDEI0 A0S Teoxy) AIVE), D8 VAR AATRDOND, &8 DS WS

Options :

Ellipse

| BEBBa0
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Parabola
9 VT DV

Hyperbola
3 % VEIVT°DVADAD

Circle

4 % :J;.,@Eﬁl)

Question Number : 65 Question Id : 8135611025 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

1 =
If sind+sinB = % and cosA + cosB = 1. then sin (%) equals

. : 1 : . (A-B
sind +sink = P 200030 cos A + cos B = 1 @008, sin (T) RS

Options :

AP EAMCET 2020
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Question Number : 66 Question Id : 8135611026 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

oS g (2+hf§)m (2—£~.,f§)m .
12 IModulus o1 e CompleX 1munoer Z—i'ﬁ.‘."rg o) \.-'rg 15
. =, 10 . = 10
2+L\E) (Z—N'E) 5 o "
(2—:‘& i3 2+i5 nzmég Rog( CIE). D70
Options :

- 2 cos (20 Cos ™} G})
. 2 sin (lD Cos G))

2.

- 2 cos (10 Cos=1 G))
. Zsin(ZD Cos™ 1 G))

4.

Question Number : 67 Question Id : 8135611027 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the lines joining the origin to the points of intersection of y = mx + 1and x* +y% =1
are perpendicular, then

y=mx+138» x*+y?=1 SEN)) 206.00 Dotd DotaPLa Aredotid)D Sendm
D6\G B8R0 VORI GoGtrdS A8

Options :
m = —1 only
| w M= —1 Sogda
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m = 1 only

, % m = 1 Jrga
BJTHZil
4 % m=20

Question Number : 68 Question Id : 8135611028 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Cos XY — sinx
J _ — dx =
5 + sin(2x)

Options :
R | .
- Cot [? (sinx + cos .1’_}] +c

1. %

1 £ =
?Tau_l [? (sinx + cos 1",1} +c
2.«

fiee 2 TH -
—Sin L {— (sinx + cosx}] +c
3 % 2 2

1 e
?CDS_I [E (sin x + cos 1‘}] g

Question Number : 69 Question Id : 8135611029 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If the sum of all the coefficients of (ax? — 2x + 1}2019 is equal to the sum of all the

a . L2019
coefficients of (x —ay)  thena =

k=B 1}2019

DA6nS* hragame odsm (x — ay)’ - Jons’ Hnsan
ANBAVHL DTS, o Ded=
Options :

1% 1

Question Number : 70 Question Id : 8135611030 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
—1
feglﬂgx (x*+ 1) dx=

Options :

EEiﬂgx -
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xt+1

Question Number : 71 Question Id : 8135611031 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A Square is inscribed in the circle x? + y? — 2x + 4y — 93 = 0 with ifs sides parallel to the
co-ordmate axes. Then which among the following can be one of the vertices of the square?
24 y? = 2 44y — 93 = 0 5B008° 08 SA6F) . T e AFITTVD
REATFoSGIT &0l BoddDoRVNE. S0 T’ A DotdY) & BAGTAS w8 %‘g;ﬁw?

Options :
. % (5,8)

Question Number : 72 Question Id : 8135611032 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What is an approximate value of /199 corrected to 4 decimal places?

&AM V199 aing), Dewd, 4 G703 g"a“e.:a SO

Options :
1 % 14.1608
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, ® 14.0168
5 % 14.1086

4 v 14.1068

Question Number : 73 Question Id : 8135611033 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The cartesian equation of a line 1s 2x — 3 = 3y + 1 = 5 — 6x. The vector equation of the
line passing through the point (7, —5, 0) and parallel to the given line is

28 69 8 TB2ADS PEORAW 2x — 3 =3y +1=5— 6 @, (7,-5,0) Dotk
ot Td, D G DATISCOT ol T3 ABVE), AT VeVECE0

Options :
T = (5T —-77)+A(37 +27 — &)
- r=(7i+5j)+A(31 —2j + k)

L, T=(71-5])+A(3T +2] - %)

L F=(-8T+77)+A(-37 —2] — &)

Question Number : 74 Question Id : 8135611034 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
AP EAMCET 2020
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The length of the latus rectum of a parabola whose focal chord PSQ 1s such that PS = 3
and QS =2 1s

28 HTdwairds PS =3 Lbatn 05 =2 wakjer PSQ w8 0 a7y Gold), &8 DT HVAL
T8 Voo TG dodh?
Options :
24
v 5

12

2. % D

Question Number : 75 Question Id : 8135611035 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the roots of the equation x® — 6x2 + 11x — 6 = 0 are @. f and y. Then the equation
whose roots are @%, f%, y* among the following. is

@, f ooty en x¥ —6x2 + 11x — 6 = 0 % Jureren e, $ob T o, 52,
y? 0 Jarerea do HDEdmAL

Options:

. x4+ 14x2 +49x—36=0
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x® —14x2 + 49 —36 =0

3 % x3 —14x2 —49x 4+ 36 =0

4 x X —14x* —49% —36=0

Question Number : 76 Question Id : 8135611036 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the equation of a circle with radius 5 units and touching the circle x% +y? — 2x —
4y — 20 = 0 at the point (5, 5).

2 o N e iR Ia "

Uty -22-4y-20=0 5T (5,5) Dot 96 R TR, 5 05k ;5“5.5“3::
() 398 2REGE0
Options :

| ¢ X2+y?—18x—16y + 120 =0

5 % x?+y2+18x+ 16y —120=0

- x* +y* —18x + 16y — 120 =0

4 x X2 +y*+18x+ 16y +120 =0

Question Number : 77 Question Id : 8135611037 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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1
= 1§

S 1) rE = : = &
The range of the function f(x) = x* + e

1
xZ+1

flx) = x%+ DD00DBW ANE); TR SUDoC.

Options :

L« [2, )

4% (0, 1]

Question Number : 78 Question Id : 8135611038 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

g
. (2 | 3q)". . ;
If the 6™ term in (? 3 ?) is * ap®q® . then a, b and c respectively are

9
2 3
(?p £ ?q) D6’ 63 HE “ ap’q® " wawd, a,b,c w0 JGRT

Options:
. 189, 5, 4

1. %

, o189, 4,5

3 %212, 4,5

4% 212, 5,4
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Question Number : 79 Question Id : 8135611039 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A point on the curve x = 3 cosf. y = 2sin6 at which the tangent is perpendicular to x-axis is

x=3cosh, y =2sinf 33708 @ Do) 36 Ao 06 88 1-0FAS8 Voo Got?

Options :
L v (3,0)

5 % (0,3)
3.%(0,—-3)

. % (=3,3)

Question Number : 80 Question Id : 8135611040 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The equation of the line through the point (—1, 3) in symmetrical form. when the angle made
by the line with the positive direction of x-axis 1s 120°. 1s given by

X~ 053 6% 38 120° Eerd) Bar, (—1,3) Dothdy ot T 26W6R 2Esmo
iy Grddnd” grodoaw?
Options :

(x+1)  (y—3)

= — = T
1 —1/2 \V3/2
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(x+1)  (y+3)
> x 1/2 V3/2

(x+1) (y+3)
. —1/2 V3/2

(x+1) (¥—3)

4% 1/2 V3/2

Physics
SectionId : 81356120
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 81 Question Id : 8135611041 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A string of a pendulum of length [ 1s displaced through 90° from 1ts vertical and released.
Then the mummum strength of the string needed to withstand the tension as. the pendulum
passes through its mean position is
| T o wé S'ogo S T Jed) gu;.so 2008 90° 308 gva@oeo Doldod) 08) &
200) H8T®. &5 S'wgo SIS g"a".i')l ORI, BB SLVot & &
a0E); SR VAW sdodd ol ITW?

Options:

1. % Mg
2.v 3mg
3 % 5mg

4 % 6mg

Question Number : 82 Question Id : 8135611042 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Pressure of a gas of constant volume at 20 °C is 90 cm of Hg. At what temperature the
pressure would change to 75 em of Hg,

26 0D20ATM0, 20 °C 3G &) T DER0 90 cm © Hg. O eXdaad o
2Edo 75 cm © Hg 03)d00d?

Options :
1. % 233.2°C

5 v —28.8°C
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3 % —24.2°C

4 % 28.8°C

Question Number : 83 Question Id : 8135611043 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The binding energy of a nucleus is equivalent to

2,5 So@So AV, LGB 33 &8 23D

Options:
The mass of nucleus

Sods BT 28

The mass of proton

Terd 83 O°38

The mass of neutron
RT(ErS Q;ﬁém—?é

The mass defect of nucleus

Sogo AV Qaﬁéﬂ‘% 5 D0d

Question Number : 84 Question Id : 8135611044 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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In given figure, an ammeter reads 5 A and voltmeter reads 40 V. The actual value of resistance R is

9D D0’ e.sbaéead: 5.4, 3200 40V 0 ardhoar) o, 000 B0 R 008

260N Qe aoch?
R
() :
\i/ VWW
(v
St
Options :
1. % a0
Greater than 8 O

80 o S0t J}SJEJ;::
2.

Less than 8 ©
- 80 o 508 B8,
3. ®

4 % 2000

Question Number : 85 Question Id : 8135611045 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In a series LCR circuut

LCR 33 Swodhwnd®

Options :
The voltage leads the current if X < X,

1w XL < X 0008 ST DES Soff H006) o).
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The voltage leads the current if X; > X

5w X1 > Xo0and SGE DS S0 200 Gt

The voltage and current are in phase

- Sgé 208050 hq&:}éé 2.8 &%¢5° Sotron

The current leads the voltage if X; > X
4w X > Xc 0a0d DS SGE S0 B0 o).

Question Number : 86 Question Id : 8135611046 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A metal surface is illuminated by a light of given intensity and frequency to cause photoemission.
If the intensity of illunination 15 reduced to one—fourth of its original value. then the maximum
kinetic energy of the emitted photoelectrons would become

5ol &qéo §%0 ':?D')Kx 3}“#5,}]&50, 933 2902 508 28 5 B0 PEIoBITR. Q&i}
o‘mgzj B33 &9 DendLy 43 s LA, e%:i"ﬁor:&mdé Qﬁesﬁa)vg“gg ﬁ&:o;: e
Options :

Unchanged
1« G

Half of the original value

Twice of the original value

, o F9De0% 880y
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Four times of the original value
FDensd Treur dew

Question Number : 87 Question Id : 8135611047 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The Lenz’s law gives

Do aiD00W REONRDE

Options:
The direction of induced current
260 DS HI 63

the quantity of charge flowing
DDT0ld DS e5DF HOITEAW

the magnitude of the induced emf
, D08 DEEEOS BB DBITEIDN

motional emf in the circuit
Seaianes” Bed §Jc;’nzgf.:s°aus IS

Question Number : 88 Question Id : 8135611048 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The external diameter of 5 m long hollow tube 15 0.1 m and thickness of its wall 1s 0.005 m.
If p=1.7 %107 Qm, its resistance will be

5m © e o w8 &' Fto ePr{(o 0.1m Sdaio ard Réo Soote 0.005 m.
p=17X1078 Qm eo0d & e dod?

Options:
1.4 57X 100

, ® 27x107°Q
3 % 2X107°Q

4 % 5X107°Q

Question Number : 89 Question Id : 8135611049 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Two cars 4 and B are going around concentric circular paths of radii R, and Rp. If the two cars
complete the circular paths in the same time then the ratio of angular speeds of A and B is:

A 208050 B 93 Botd TTe0 R, Sdokw Ry a°5é“g°wn° (10 SRS STT6 3rGod’
AEOAMEIT) 0. & Both) TFTe) 28 AADed” JTs0 SrTOR PO B, A H0basw

B o @), Srah 36w G dod ?

Options:
v 1id
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4. % 1:2

Question Number : 90 Question Id : 8135611050 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the dipole moment of a short bar magnet is 1.25 A — m?. find the magnetic field on its
axis at a distance of 0.5 m from the center of the magnet.

28 T8 oI odan ang) BGHPagsn 1.25 4 —m? eand, ol efo s,
206{DoG) o) 0.5 m Ere3we’ wabded £8 LA Bvied?

Options:
1 % 1.0x107* NAt.m™

, x 40%x 1072 N.ATLm™!

3 v 20X 107 N.AL.m1

4 % 664x107° N.A™Lm™

Question Number : 91 Question Id : 8135611051 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A steel ball of radius 2 em 1s at rest on a frictionless surface. Another steel ball of radins
4 cm moving with velocity of 81 cm. s collides elastically with the ball which is at rest.

After collision the ball with radius of 2 cm moves with speed of

2 cm J"éa‘g;fm (iR 28 &8, 0208 2068 G BVANY VAT B, 4 cm ;.5"53‘%5313
o DS ey 0 81 em.s™! Sidwd’ Hasrer Joed’ by Es wodd ig@gv:;s
DATAAY 2OOIO. &5 ) BOTS 2 cm m&&gm} (0 808 DS Séﬁ&bo&..

Options :

| 144 cm. st

> % 72 em.s™!

3 % 216 cm.s™*

4 % 36 cm.s™!

Question Number : 92 Question Id : 8135611052 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

An electrical refrigerator with f = 5 extracts 5000 ] from the contents of the refrigerator.
During this process. find the electrical energy utilized by its motor.

B =5 fv w8 Dandtd (&g 0D<0m obodan). Y &) PV Aot 50007
(8B00of. 908, & IS’ T AEPd DIATAE ) 38 Jod?

Options :

, % 0.5 kJ
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5 % 0.8 kI

4% 12 kI

Question Number : 93 Question Id : 8135611053 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When a body is heated. then maximum rise will be in its

28 SR DEBVD, TrIS” BBQeT HOAE

Options:
Length

)

1. %

Surface area

relelslD) ?J*‘a""?.iét:;
2. = Rt

Volume

3 ¢ VR0

Question Number : 94 Question Id : 8135611054 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Potential difference between the points P and Q in the circuit shown 1s

D006 SrDHD Deo)S SoaLAS” P 8ok Q S06 TEJobhe Se

’ i=15A

Options :
1 % 45V

5, % 12V

3 % 24V

4 v 288V

Question Number : 95 Question Id : 8135611055 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A travelling microscope 1s focused on an ink dot marked on a piece of paper. When a glass
slab (1 = 1.5) of thickness 0.12 m 1s placed on the ink dot. The travelling microscope has to

be moved i order to restore the focus

28 R 1 £) 68, AL 3082 DB VT A SoSEBouied A ST, VoD
2 0.12 m 200820000 Tre B Gofd. T H 6L $085000 FoDHErAS B
‘&Pi&d&gﬁﬂ) D DB 2EHITH? [Mrey H9289% Hdxsan ji=15]

Options :

0.04 m downwards
1 % 0.04m So&S

0.04 m upwards
5 » 0.04m ocsd

0.06 m downwards
3 % 0.06 m Sobs

0.06 m upwards
4 % 0.06m ocsd

Question Number : 96 Question Id : 8135611056 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Consider the situation shown i the figure, The wire AB 1s sliding on the fixed rails with
a constant velocity. If the wire AB 1s replaced by semicircular wire, the magnitude of the
mduced current will

D0208" D8R0 DBZ 28 AB 0 &1 6 3w Herep FGded. & &1
w8 83TT0 S8 4r8\3 DBl ey

~ A
—
o
! L
[ T r—[
~B
Options:
Increase

| % DOHRE

Remain the same

5 @ aﬁPdJ:J Wo e

Decrease

Siodood
3. % §

Increase or decrease depending whether the semicircle bulges towards the resistance or away from it

o B M50 636" Grr HOBI" GuNEAD TT DORED 59, Bt D 2008008

Question Number : 97 Question Id : 8135611057 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
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A Camot engine takes 3 X 10° calories of heat from reservoir at 627 °C and gives it to a
sink at 27 °C. The work done by the engine 15

28 58 aiodo 29550 200D 3 X 10° 568w &3rd) 627 °C 3¢ R0ED 27 °C 33

&) oS8 0G0, 0H 0hodo dodh DA Woh?
Options :
Zero

%\Prﬁéo
1. k3

6
2.48-4‘><10 J

L % 42X 1087

4 % 168X 1087

Question Number : 98 Question Id : 8135611058 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
. . Ne ' . v 10 , X
The displacement y (i cm) in case of a simple harmonic wave is given by y = —sin (ZUDUH b~ )

The pertod and maximum veloeity of the particles in the medium will respectively be

ROV o) o Bdoid Bdor Jdgodo y = tr—us'm (zonum - %) P GPonEd0. & oirdgans’
SRa) B3G50 S0B0I) (18 Didw
Options:

| » 107%s, 330m.s7"

, w 107%s, 20m.s™"
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3 @ 103g 200 m. st

4 % 10725, 2000 m.s 1

Question Number : 99 Question Id : 8135611059 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A bullet of mass ‘m’ and velocity ‘v’ when fired at a sand bag of mass ‘M". suspended
by a string. gets embedded into the bag. The loss of kinetic energy in this process is

m’ G0 o 8 Mot v’ oS DT BereddY M’ @A RS
BFE° 8 $ei0y§D Tawod. & HIoe” S $3 S0 Jod?

Options :

muv?

2

1. %

mu2

5 % 2(M+m)

Mp?®
2

3. %

mMuv?

o 2(M+m)

Question Number : 100 Question Id : 8135611060 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A body of mass 5 kg starts from the origin with an initial velocity ' =30 7 + 40 ] m.s".
When a constant force F = —(E + 5}) N acts on the body, the time i which the y-component

of the velocity becomes zero 1s

oreidotinsd) 00t 5 kg B0 o 28 S0P U =30 74407 m.s™! Stiod nabendtod.
T s F =—(145]) N, edo a8 20 L) SEdIYE T Bfo B y-oto
Wéémoinéoméa Jodh 500 DR?

Options :
1, 23 5 S

> % 20s
3_%,,-‘-1-05

4. ® 80 s

Question Number : 101 Question Id : 8135611061 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

— i .
In Bohr's theory the potential of an electron at a position 1s Ty where K 1s a constant. Then

the quantized energy of the electron in n* orbit is

K..z
¢5°6 bgo@mﬁ 2,8 g"é:m 36 ABIEY S"ﬁgcﬁ)ﬁ Tj 986 K 28 i'gu"osma. e00d
n O SE15° VTR (08806 33 fiedothaidm.

Options:
nhK

133271"111
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1th K
21 m
nhm
3 % 2K
nh m
2w K
4. ®

Question Number : 102 Question Id : 8135611062 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A cireular parallel plate capacitor of radius ‘R’ and spacing *d’ 1s being charged by a constant current

‘Ip’. Find the magnetic field between the plates at a distance ‘1" from the axis, where r > R,

‘d’ aroand Shdabed, R’ ajRrgan 00 w8 SIS Nareds Dose S W 8 RO
g 'Ly F eDIOD DR . &8 DO Y, T B0 G Tt Arcane” &) w8 Dochay
53 o) 06 Zga

Options :

HolpT
1 % 2mR?

Holp
, % 27R

.HGID
3. v 27

Zero
" wa?gma
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Question Number : 103 Question Id : 8135611063 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two-point white dots are 2mm apart on a black paper. They are viewed by eye of pupil diameter
3 mm. What is the maximum distance at which these dots can be resolved by the eye? (4 = 500 nm)

28 SR SABA 6 Ford B Dowapo DG PO 2mim. 3mm FRAD &) SoBFDHE
R AP, 2 (18 Groa Hg e 5:0) B0 Do 0,06 0mA Sod? (4 = 500 nm)

Options :
1 % 5m

2 % 1m
3. % 6m

4w 10m

Question Number : 104 Question Id : 8135611064 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When a 5 C charge 1s kept m a uniform electric field. a force of 5000 N acts on it. Find
the potential difference between two points in that field. separated by a distance of 1cm.

D808 DS 308" 5 C DENETDA0 G, TR 5000 N © wedw
KJ%M&J_&. e9tS0t) @dﬁgé 508" 1 cm Grdans” 6 aoijmg. G0l
Do 206 TH0LS Hes1 Dod?

Options:

L w10V
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, % 250V

5« 1000V

4 % 2500V

Question Number : 105 Question Id : 8135611065 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A material has Poisson's ratio 0.50. If a uniform rod made of this material suffers a longitudinal

strain of 2 X 107, then the percentage change in volume is

w8 DEgAw Faad A 0.50. & :ng:méﬁ 5% w8 D860 &0 oag D88 2x 1073
o, RDBATHANG” Ardhy TS

Options:

1. % 0.6

5 v 0.4

5 % 02

4. % 0

Question Number : 106 Question Id : 8135611066 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A light contamer having a diatomic gas enclosed with in 15 moving with velocity V', Mass of
the gas 15 ‘M’ and number of moles 1s *n’. The knetic energy of gas w.r.t ground is
M B3T3 N AP0 (10 28 BBATME TADOY) 28 8053 Fgd’ eodd 0d v

5308 EE0eNMRH. LoD & TN caws), (8333 Frdosw c:’:ag“é
Options :

—MV* +—nRT
1.% 2 £

Question Number : 107 Question Id : 8135611067 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statement 1s correct?
A. Becquerel. who discoverad natural radioactivity, belongs to France
B. Marconi. who discovered wireless telegraphy. was an American
C. Newton was an American. who discovered the laws of motion

D. Einstemn belongs to England. who simplifies the laws of photoelectric effects

& 808 DIVTVSE B HBAHA?

A 3}&3 83723 Bodd 8, hiry fEair &) S8 ST .

B. 02nds S80Ed 476).9, Do Tirsd) ST &

C. edds éé‘ﬁagb AP, (R JOHATVRL SR 6

D. Roffocs G0 LW 2929, T dhere Argrod K608

Options :

1.\;?? a‘q

4. %

Question Number : 108 Question Id : 8135611068 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The KE. K of a body performing simple harmonic motion varies with time ‘t’. 1s indicated in graph

0BT’ HO¥ T’.J“U"e:’ﬁés ALY t._f):n})él w8 A (d28s K, sodw ‘t & Jotk hfd)bm
ArQot) T2 &) BVt
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Options :

K

2. %
K
/‘ t
o ’
3. %
K&
1.I-
T
4, %

Question Number : 109 Question Id : 8135611069 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

) — — . ‘
Two atoms of oxygen are located at ry and r5 . Their Centre of mass is at

0ot 3820 DOATTNHLD 7 B T I &) ow. T8 GI(TF So@dw g“a‘):m

Options:
1 % ry -+ 13
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Question Number : 110 Question Id : 8135611070 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The value of acceleration due to gravity ‘g’ 1s maximmun at

DS SBeso ‘g" (0D ol rodho

Options :
Poles

1 GyeTre

Centre

> % Sogo

Equator
, Brcio

Surtace of earth

4 % BT &DOSVo
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Question Number : 111 Question Id : 8135611071 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When a helium nucleus makes a full rotation of a circle of radius 0.8 m in 2.5 seconds. the
value of magnetic field B at the centre of the circle will be

0.8m méﬁgo (0 HTY DB’ 28 erdoo Soso w8 LB Faveo BRI DD
o 2.5 VS, BN, &8 e Sode Sl EﬂOﬁJﬂ“Go@ £80 B Dend dodh?

Options :
1 % X107 T

5 x 2TX107%° T
3w 4mx10726 T

4 % 2TX107% T

Question Number : 112 Question Id : 8135611072 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A dipole 15 placed 1n a uniform electric field. its potential energy will be mimmum when the
angle between its axis and field 1s

D63 Doy EB08” w8 BT Gotrdd. A LTS Bk £E Hudkf D So 3¢
2838 $%0 ©B0A?
Options :

Zero

waﬁa
1.¢
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Question Number : 113 Question Id : 8135611073 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The acceleration of a particle executing S.H.M. 1s

ROY TT°E) S SOAINS BIR® &) 2,8 St AINE), BBERN

Options :
Always zero
1% QU T B[00

Always constant
QDT .-&_}ciahn

Maximum at the extreme position
e90dh Do DG (3800

Maximum at the equilibrium position

4 % ;ﬁrcﬁéﬁ.’)ﬁ Do) ;5%5 r‘i&%];ﬁm

Question Number : 114 Question Id : 8135611074 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The graph between two quantities P and @ 1s a straight line when

P 208050 Q Tt U730 D06y A o 208 VEYDY vond
Options :
PQ = Constant

- PQ = gcﬁ o
P
— = Constant
Q
P
— = DO T3
v @ ®
PQ? = Constant
2 o
3 % PO = aq:;d o° 3
P
E = Constant
P
— = Palofont ']
4. @0 ®

Question Number : 115 Question Id : 8135611075 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A body starts from rest and moves with umform acceleration. If the distance travelled by it m
the first 2 seconds is x; and in the next 2 seconds 1s x,. then x; and x; are related as

28 SR Qéau?g@ Aot “:amejsdsaog 20658 2 DEdow TwaS” 1, STy, S8 2
2w TS 1, &road) Rosredn), x; dakw 1, © 206 Dot
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Options :

1. % X1 = %2

2 % X1 = 2X3

3. % le = Xz

4. 3x1 = X»

Question Number : 116 Question Id : 8135611076 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A bullet of mass 0.01 kg travelling at a speed of 500 m. s™* strikes a block of mass 2 kg
which is suspended by a string of length 5 m. The centre of gravity of the block is found to rise
a vertical distance of 0.1 m. What 1s the speed of the bullet after it emerges from the block?
0.01 kg @303 o 2.¢ &g, 500 m.s™* Sliod podrgiar, 5m TEY) o 8 S
QAR Zkg Qb?gcr% (0 2,8 B0 A eg ) 8. 6P & B e Sogo 0.1m
Qe 8 SHYD Adorred. 80, B4 Wod: L0HLIS S\ LG I¢ Jod?

Options :
| 200 m.s7?

2 220 m.s~ !

3 % 204 m.s7!

4 % 284 m.s™!

AP EAMCET 2020



AP EAMCET 2020

Question Number : 117 Question Id : 8135611077 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Effect of a couple 1s

muo:mriéa a0

Options :
Purely linear motion
| RO SDoBOHo

Purely rotational motion

5 2P0 gt duso

Linear and rotational motion
5 % ODOD B0 Fedod eDdiw

No motion

4% QDo) LD ST

Question Number : 118 Question Id : 8135611078 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The electric potential at the surface of an atomic nucleus ( Z = 50 ) of radius 9 X 107 m is

9X 107 m (o 6:) w8 wmSoEto (Z = 50) &HBVeR IS TOJAS dod?

Options:
1 % 4% 10% V
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, v 8x10°V
3 % 4%1076 Y

4 % 8Xx107°V

Question Number : 119 Question Id : 8135611079 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two blocks of ice when pressed together join to form one block because

Dot ot fi‘::néum 28588 .::’chjdrv Ségj o) €9a) 2,8 -:'ib.:uén“ Dﬁhém‘bé 660

Options:
Of heat produced during pressing
- S8, &0 BATVLIVD

Of cold produced during pressing
5w P8R BYGBD0 BACLILDVD

Melting point of ice decreases with increase of pressure
, Do DOAD, Ho> BBOIFBo B

Melting point of ice increases with increase in pressure

n Do DBAD, BSootdd Qbaﬁéég"éo EIA

Question Number : 120 Question Id : 8135611080 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

A block P of mass Mp 1s 1n contact with another block @ of mass M, as shown in the

figure. and they are placed on a smooth floor. Force on block Q is

Mp, My 330300 $88% P, 0 0D 63000 D08 Srddtn 1618 God, 2

ARV B0 GotSE0N. NS,  B)H DIBD VYD Jod?

F
(Mp) (M)

W iy

Options :
Mp
+
. Mp+Mg

MgF

, v Mp+Mg

MpF
Mg

3. %

Chemistry

SectionId: 81356121
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
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Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 121 Question Id : 8135611081 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Cr(C0), find the value of x7

Cr(C0), &° x Dend SeniHAw.

Options :
1.% 4

Question Number : 122 Question Id : 8135611082 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following polymer is bio-degradable?

S0 T3e5° 85 :)amm: eoaisy 0206 287

Options :

1. %
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Nylon-6.6
QeD-6,6

Nylon-2-nylon-6
QEFA-2- e -6

Melamine polymer

oD T'OA6
3. W

Nylon-6

4% Q-6

Question Number : 123 Question Id : 8135611083 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following compounds is a gem-dihalide?

Sod T°A° VB F-G-FTE ?

Options :
Ethylidene chloride

| o 200as §36

Ethylene dichloride
2695 2§06

Methyl chloride
. @S §0&
3.8 T @<
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Benzyl chloride

4 x BBS £8&

Question Number : 124 Question Id : 8135611084 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Arrange Li, Be, B and € in decreasing order of their first 1onization enthalpies

Li, Be, B 58050 € 0d) 38 Hé eobhdsden Doqrbb e5CrGom 930708 S0t 06\

Options :
1 % Li=> B > Re €
) % C >Li>Be>8HB

3_{‘/6:}86}8}&

4 % £ 2R »Be= L

Question Number : 125 Question Id : 8135611085 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The IUPAC name for the following compound 1s
PR FRHD clng), IUPAC ol

BrCH,CH,CH = CHCH,COCHs

Options :
1. %
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1 —Bromohept—3 —en—6 —one

1 -0 erd—3 —&d—6 —&

2 —oxo—Bromohept—4 —ene

2 —es8\ e AT —4 — &

7 —Bromo—2 —oxo hept—4 —one

7 —g'ar—2 o8 \iro—4 —4

7 —Bromohept—4 —en—2 —one
7 —g D —4 — -2 —&D

Question Number : 126 Question Id : 8135611086 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among KI, FeS0,, K;Mn0,;, KMnO, can’t be oxidized by 057

K1, FeS0,, K;Mn0,, KMn0, o8 0; 8 5815683050606 D67

Options :
1 % KI

, « FeSO,

3 % K-;Mn0O,

4. Klw'”04
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Question Number : 127 Question Id : 8135611087 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The order of screening effect among s, p, d and f orbitals of a given shell of an atom. i its
outer shell electrons 1s:

28 DOATEY) AW, EP 38 gme‘j‘b QTSR D 5, p,d 0B [ 8B erv) DOBLS
DA $A7 dendod

Options:

5 % o =g

Question Number : 128 Question Id : 8135611088 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In which of the following options order of arrangement does not agree with the variation of
property indicated against it?

$08 O D £4r3 & D Wrdd 6w TG ArdnG W8T Dt S8 @A
2oa)% ﬁoﬁbéod.

Options :
APT < Mg?* < Nat < F~ (increasing ionic size)
CAPT <« Mg?t < Nat < F~ (0903500 H835°830 28rdde)

1. %
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B < C < 0 < N (increasing first ionization enthalpy)

, x B<C <0 <N (2068 soirdssn doardy doormese)

I < Br < Cl < F (increasing electron gain enthalpy)

I < Br < Cl < F (dogd iy dogdy dDddse)
3. ¢ 2

Li <~ Na <= K < Rb (increasing metallic radius)

L Li < Na < K < Rb (&5°5 F&&g;ﬁn DEG)

Question Number : 129 Question Id : 8135611089 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Arrange 0,, 0,[AsF;], K0, in the increasing order of bond length of 0 — 0 bond.

0 — 0 206 EFEA DA 0,, 0, [AsF], K0, v 88 2008° wm%od
Options :

1 % Oz < KOZ < Oz[ASFﬂ:I

2' ® KOE < Oz < OE[ASFﬁ]

3 % OE[ASF;J] < HOZ < Oz
4. OE[ASF‘:J] < Uz <l KOE

Question Number : 130 Question Id : 8135611090 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

What will be the molality of the solution containing 18.25g of HCI gas in 500g of water?

18.25g HCI ar050:) 5008 © 86" S0 éotl o°d 2werdd) dots?

Options :
1. % 0.5m

5 % 0.1m

3 ¢ 1M

4 % 0.05m

Question Number : 131 Question Id : 8135611091 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The tms velocity of Oxygen molecules at 27 °C 1s around 800 m/s. The rms velocity of
methane molecule at 600 K temperature 1s around

27°C 56 Béhafa g0 1ms afo 800 m/s. 600 K &gﬁ{je:& 56 DS 96V IMS ffo

WArE

Options :
1 % 400m/s

5 « 1600 m/s

3 % 800 m/s

4 % 1200m/s
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Question Number : 132 Question Id : 8135611092 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following is a physical property of molecular solids?

SoBTe5° e3> DD :Jm“g“u eTOS B30 AB?

Options :
Volatile

v wq:]%’ue:ﬁ

Quite hard
. D[S GESo

Brittle
%O

Good conductor of electricity

L Adot) 3)55.)55:“5:305@

Question Number : 133 Question Id : 8135611093 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The formula of vapor state of white phosphorus 1s

RSN f’g@vﬁ‘ &) BV S“'ﬁ;)di:: e, iﬁd}éey

Options :
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Question Number : 134 Question Id : 8135611094 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

1g of a solute 15 added to 18 g of water. In this aqueous solution, what 1s the mass percent
of the solute?

18 rrow DBS® 1 raw Trddo Seudrr DO\ 20 FrI6eY TAdo ereTdo Jod?

Options:

1.% 2%

, 5%

3. 1%

5, % 10%

Question Number : 135 Question Id : 8135611095 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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For the species HS0, and N H; their conjugative acids respectively are

HSO, 20bodn NH; v ﬁGOjDﬁé €557°00 CORT

Options :

so.” & NH,

, x S0, & NH;

H,S0, & NH}
3 ¢ 2 4 4

4 x H2S0s & NHy

Question Number : 136 Question Id : 8135611096 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of among the following is an example for fibre?

o T°83e5° Vo) ETFiTron &7

Options :
Polyester
F® D26

1.4 =

Urea-formaldehyde resin

crBasr — 07 Oarh 8D
2. % =

Polyvinyl chloride

> D2 §8E
3. % e e
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Neoprene

4 % DETDD

Question Number : 137 Question Id : 8135611097 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
Gaseous state 1s characterized by which of the following physical properties?

1. Gases mix evenly and completely on all proportions without any mechanical aid

II. Gases exert pressure on all directions evenly
I Gases are highly compressible and have lower density than liquids and solids

IV. The volume and shape of the gas 1s fixed

050 fge:a 308 D FOE w&uéﬁ BDTE R B0H?
I Qo) freds HEANS R G0 TanPen 8 JAndows” BT eav.
L srainen o) B8’ o8 a6ad) sdhFon
[II. Trodneen eds ?\]OEJC;]S@ (00 epTron B0 M), @9 mwgoéoﬁ 85 Fodd
$9A éotran

IV. Toing)mw ?gdmwé s5T) , 00ArEr) $0h Sotran

Options :
1. % LILIV
o % 1L IIL IV

3 ¢ LILII

4 % LILIV
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Question Number : 138 Question Id : 8135611098 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following 1s a possible product during cross aldol condensation between
propanal (as electrophule) and butanal (as nucleophile)?

ToHTS (aug“;.gﬁ ™) nbain mséaa“ai (mﬁw;&e‘i ™) o 20 ARV LRV
w50[ 2008, SoBTIG DOYEEmAS LITEANR) D)0 A7

Options :
3-hydroxy-2-methyl hexanal

3-8y 2-20pS TENTS

2-ethyl-3-hydroxy pentanal

2-5BS-3-5S DobITS

3-hydroxy-2-methyl pentanal

3-8y 2- 2088 DTS
2-ethyl-3-hydroxy hexanal

2-5BS5-3-5S TE\TS

Question Number : 139 Question Id : 8135611099 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The increasing order of densities of the following alkvl halides is
S0 T S UL © JroeS DBA S0H

1. n-C3zH;Br
it. n-CgH;Cl
.  n-CzH-I

Options :

Lo () < (@ < (i)

, x (i) < () < (i)

3 % (1) < (i) < (iii)

4w (i) < () < @)

Question Number : 140 Question Id : 8135611100 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The mass of one mole of a substance in grams is called

mawees” w8 00 DTG G503 29087760

Options:
Atomic mass
DOEATEW g;.‘mér::“%‘

Mole number
2T ;}DQJ?S
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Molar mass

2Teerd Q;ﬁ&w%‘
3.¢

Mass number

4 Q;ﬁéc‘*%' Roady

Question Number : 141 Question Id : 8135611101 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Compound which is added to soap to impart antiseptic properties is

e uﬁreeﬁhigé GO £DRotLLL) CUDIVHD “n};fnym;ﬁn N67?

Options:
Sodium lauryl sulphate
J'c.odo erges RT\E

Sodinm dodecylbenzene sulphonate

J'é.oio EGTS Hodd VSIS

Rosin

. 02D

Bithionol

DAoDSS

Question Number : 142 Question Id : 8135611102 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Calculate the mass of a photon if its wave length 1s given as 0.35 nm.
0.35 nm & éécd@%u &) € Terd @S[0°2 (itdotdod.

Options :
o - —42
| % 2.20 X 10 kg

. —33
,  630%x107% g

6.30 x 10733 kg
3. ¢

4 x 1892 X 107% kg

Question Number : 143 Question Id : 8135611103 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the equilibrium constant of the reaction Cug) + 2 4 g}raq) = C uz’(;q y T 249(s).

given that for the reaction. E;; = 0.46V.

Cttgzn) +2 AG ) = Ctllge) T 240 (c0) SO Ecery = 0.46V 0008, & 306§ AERY

faU“oS“:}l Atdotiol.
@

Options :
1 % 42 x10°

, % 623 x 10’

- 15
3 ¢ 392 x 10
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4w 454 X 102°

Question Number : 144 Question Id : 8135611104 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A chemical A 15 used for the preparation of washing soda to recover ammonia. When €0, 1s
bubbled through an aqueous solution of A. the solution turns milky. It is used in white washing
due to disinfectant nature, What 1s the chemical formula of A?

T00 e Soirde” wﬁr&ﬂoﬁrm 860 Tocr ‘A’ ) dﬂ“o‘ba“«ﬁl &f’dcﬁfﬁ?m. A
C30g), 2UFR08 I8 (0, J Dodd G SYT FuIT Srdid. SRodtos S8
S0R AN W) A T TEED. A cﬁnébé&oﬁpi)s éﬂmyr 28?

Options :
1 % Ca(HCO3),

9 % CaO

4. % CH.CUE

Question Number : 145 Question Id : 8135611105 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

To avoid bends sickness. the tanks used by scuba divers are filled with air and diluted with

Botiy BTET) SyotiobiS) AP Er ST, Eroswd” Y & D00 B
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Options :
Helium gas

_— s datio Tras0)

Argon gas

Hrg“.% STO500e9)

Krypton gas

S TraivY

Xenon gas

4 g::ﬁé STCCEAY)

Question Number : 146 Question Id : 8135611106 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Ky for CaS04 is 9 X 107°. The minimum volume of water needed to dissolve 1g of CaS0,

at 298 K temperature 1s

CaS0, % Kyp 9 X 107° eood, 298 K &de 36 1 7 CaS0, &) $ORoSE=RS ged
S0hd HB ¢dd d0BATH0

Options :

. % 3.50L

, % 4251
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42451

Question Number : 147 Question Id : 8135611107 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Glycosidic inkage in carbohydrates is called

8y &S v&° (o GERAS BorrORD €908

Options :
Ester linkage
1 % ISIEATIATRY

Ether linkage
5 v G086 RoGIW

Hydrogen bonding

5 x TEBD WotBW

Amide linkage

4 % V26 LOGID

Question Number : 148 Question Id : 8135611108 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The correct order of ncreasing 1onic character among LiH, NaH, KH, RbH, CsH is
LiH, NaH, KH, RbH, CsH w¢° e0srdg R0 2087 B0 ST BVdok.

Options :
AP EAMCET 2020
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LiH < NaH < CsH < KH < RbH

1. %

> LiH < NaH < KH < RbH < CsH

3 % RbH < CsH < NaH < KH < LiH

4 % NaH < CsH < RbH < LiH < KH

Question Number : 149 Question Id : 8135611109 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Analysis shows that nickel oxide has the formula Nij g50; gq. The fractions of Ni®* and Ni3*

10ns in the crystal are

8 DF0E’ DTS 6316 PR NigggOy g0 T BODG. 08808 Ni®F, Ni*F eatrie
a‘,’.)a“lw ™ GotA

Options :
Ni?* =98% & Ni** =2%

1. %

, x Ni**=2% & Ni**=98%

s x Ni¥*=4% & Ni**=96%

4w NPT =6% & Ni*"=4%

Question Number : 150 Question Id : 8135611110 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following models states that “In an atom. the positive charge 1s uniformly
distributed and electrons are embedded mto 1t™?

& 808 D PAPTVS "DOITTVPS’ GTDIA0 FRII0M Dot B0’ 0§ &

Tered sotron” 9 3dohdTd?

Options:
Bohi's atomic model
| % &6 DOATEL dArT

Thomson’s atomic model

5 Trorm HDEATLD AdarTe

Rutherford’s atomic model

- lob, o) Sﬁg DHEATE dAarT

Sommerfeld’s atomic model
n F206 Y DESHTED DT

Question Number : 151 Question Id : 8135611111 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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B d[C>Hs :
Decomposition of ethane [dt J = k[C,H;] proceeds through a complex mechanism.
(il kikzks
which includes 5 steps. The overall rate constant(k ) can be expressed as k = = where
2Hs

kq, ko, kg, ky, ko are the rate constants of the 5 steps.

If the activation energies of each of the steps respectively are E; = 1E, E, = 2E, E; = 3E,
E, = 4E, E; = 5E . where E = 20 kJ/mol. Then find the overall activation energy of the

decomposition.

d[CoH]
dt

&3S s 6 = K[C;Hq] %08 D08", 5 eodwes® oo ky, ky, ks,

kg, ks 00 5 & 0B AE), BE[ G f’gu"o?w O, NS0 AT &30

kikoks

0w k = ke

00 wots g edas 3 E, = 1E, E, = 2F, E; =3E, £, =4E, E;=5E g G E =
20 kJ/mol 08, 20850 Joird Bd) dws) &das 38 Jod?

Options:
1« 667 klJ/mol

5 % 3.33 kJ/mol

3 % 20 klJ/mol

4 % 10 kJ/mol

Question Number : 152 Question Id : 8135611112 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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MesSiCl 1is used during polymerization of organo silicones because

58S HOE 0w TDIBSCnI0S” Me;SiCl Tcowtd s eadw

Options:
The chain length of organo silicone polymers can be controlled by adding Me,; SiCl
v Me3SiCl 3¢t 300 683 8w TDY Honwdn Te JaboGouseidy

Me,SiCl improves the quality of the silicone polymer

_ Me3SiCl H98S Td0b6 G3208), (OEIDNA DOAMDCITAD

Me;SiCl improves the yvield of the silicone polymer

Me;SiCl 598D TDa06 cBg), Bl EMODENIR

Me;SiCl acts as a catalyst during polymerization

Me;SiCl JOHI00E0e08° &S 6E00Mm DIBOIVID

Question Number : 153 Question Id : 8135611113 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The molecular geometry of PF; is

PF; e 20D 958 D87

Options :
Tetrahedral

r;smméiloma
1. ®

Pyramidal

5 @ Wﬁ?do
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Trigonal planar

- 85t DB

Square planar

4 DL BBSO

Question Number : 154 Question Id : 8135611114 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The correct representation of Nucleotide 1s:

arlggcﬁngé axs); POID A7) £ Budec. ($0BJ5" “ Base " edm * 8o ")
Options:
o

D=P—0 —H;C 0 Base

{j— ‘ H H
H ;f ; OH

LRlg | O

1. W
0
{}ﬁT—f}—-—H:{.‘ o H
¢ ; H H ;
H ¢ \ Base
o oH
2. ¥
3. ¥
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O
{}:P—D—H:C O Base
o H H
H H
OH OH
0
|
O—p—0 —HC o Base
|
o
.':[ H
HO \ H
OH o
4, ®

Question Number : 155 Question Id : 8135611115 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following compounds will give butanone on oxidation with alkaline KMn0, solution’

0 KMn0, mrdned e.eébs"cimeﬁ‘ & 8oBT8S" Q 0] ¥R wbu% A FEND?

Options :
Butan-1-ol only

m&&.’i&-i -&,85 Arrdhan
1. %

Butan-2-ol only

5 @ m&ﬁﬁ-z-&ﬁ SArradlo

Butan-1-ol and Butan-2-ol

w&éﬂ& -1-4,85 SHobadwn w&ﬁé-z-&ﬁ
3. %
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Nomne of the options are correct

4 % © BTeD VBAVIG T

Question Number : 156 Question Id : 8135611116 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following doesn’t undergo hydrolysis?

208 T7AE° DA 2O DFNE Botdd?

Options :

v CCly

e SiCly

Question Number : 157 Question Id : 8135611117 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the molanity of the 5 molal urea solution, whose density s 1.3 g/ml (given. molecular

weight of urea 1s 60.06 g/mol)

5 Arere CrBasr Tranan Frokd SB0%0 et SEm 1.3 g/ml Sbokw
60.06 g/mol e00d, o Arerde) fedotdod.

Options :

1% >5M
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2.v=°M

Can’t be predicted
4 % SROFITI0

Question Number : 158 Question Id : 8135611118 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Ozonolysis of an organic compound 'A' produces acetone and propanal in equimolar mixture,

Identify 'A' from the following compound.

20,9 A" & 48 TUNR DO JOE'D 28030 ToTre © A ATerd adFVAY
g)dbdr‘bﬁ. 008, S0 ¢ Aotd A’ & HBotSed.

Options:
1- pentene
| % 1= D83

2- methyl -1- pentene

5 27 BS -1- 2oBD

2- methyl -2- pentene

3 v 27 @S -2- Dodd

2- pentene

4 % 2- DoBS
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Question Number : 159 Question Id : 8135611119 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A solution confaining 4.5 mM of Mn0; and 15 mM of Mn**shows pH of 2. The potential
of half-cell reaction 1s

Given log 15 = 1.76 & log45 = 1.653 & (standard potential of Mn0, — Mn?* is 1.51V)

28 T’ 4.5 mM Mn0; &80k 15 mM Mn?" ¢9A &od, & pH = 2 1 &0d.
& 00 Lhdw ag) JTO0S
Sorosdw: log 15 = 1.76 & log45 = 1.653

Mn0; — Mn?* qivg), parn TOabS = 1517

Options :
1 % 1.51¥%

, ¢ 131V

3 % L71V

4 % 104V

Question Number : 160 Question Id : 8135611120 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following can form intermolecular H-bond?

206 IS’ odY S FTERD LoTOR VOB DI FHE

Options :

1. %
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Ethyl acetate
ARS e

Methyl formate
HSTa 5] @“6&&5
2. % =

Acetamide
o
3 @ D&

Acetic anhvydride
DABS DD el
4. % =S
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